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L. E'%D 5 F/\jﬂ% A AZERFHIT, 3K A A BRPRER:
(1) 1. o N—2,(A— 22
(2) 1, A\, ) )\(/\ ).
)L, 1L,1L,(A=2)(A=3),(A—=1)(A—=2)(A = 3).
W11, 1A+ 1A+ DA +2)2
2. B 5 BT BE A RIS AT, 3K A B IR AR N2 T
(UA+5A+5A+5A+5A+5

(2) A 2 A—3,A—4

(3) ()\+1) ()\+ )2, A—1.

A A—2A—2 A+ LA+ 1A+ 1.

M (1) FBETUL A+5A+5A+5 A+5 A+ 5. FUREIHRA: A+ 5.

(2) AZHT: L,LLLAA=1)A=2)(A=3)(A —4). /h2Ii: XA —1)(A—2)(A —
3\ —4).

(3) AHARTEH: 1,1, 1, A+ 12, (A + 12N = 1). H/hL2 i A+ 1)2(\ —1).

@) FEFTA: L,LA+ 1,0+ D —2), (0 + (A —2). FAZTE: (A + DA - 2).

3. W A MBUNZIAGE ma(A), B a # 0. KITEE B = aA + bI BB/ i
mp(A).

fid: NA=a"'B—a'bl, H ma(A) =015 ma(a'B—a"'0l)=0. Bl ma (a™'X\ —a™'b)
& B ENZIE, M mp(A) | ma(a™'A—a™'b). KR, A degmp(N) < degma(N). H
., mp(aA +bI) =0 MM degma(\) < degmp(N). K, ma (e A= a™1b) 2 B ByHR/NEZ I
A TRAERE

mp(A) =c-ma (a'A—a"'b)

4. W e @B K oo gZVE2sE] Vo EZME R, K Vo= Cle, a) NEFRZSH,
o NPEFREE. 7 ¥, € BY ¢ TORFSTHI MDA, SKIE: o = § NREEMNZ
Y(a) = (o).

EWT s R AR, FUEFR A BB 712 FTAL {ose(a), - " @)} 2
VI —HE FED o = Yo, = o H Y(a) = £(a), BOMEERN 1 <i<n—-1Ff
V(¢ (a) = ¢'(P(a)) = ¢'(€() = £ (¢'()), A ¥, & ££ V [—HE ERIBUERRIER, Ak
=€

5.1 AN 3 BrseifE, 6k C(A) = {B € M3(R)|AB = BA}.

filt. X A WA/ I m(N) BIRECHAT 4S5 0HE. (1) 4 degm(N) = 1, W A = cl3 4l
IR, Bl C(A) = M3(R). (2) %5 degm(A) = 2, M A HFIAZRAFHN 1, da(N), m(A), Hr
degda(X) = 1 H dao(N) | m(N), T2 m(N) /£ R _EATZ). (2.1) 2 m(\) AP DAEEEAR a, b, A
Wik di(N) = A—a, WEAEARRRE P, (15 P~ AP = diag{a, a,b}. {THL X = (25) € C(A), I
H AB = BA 11§ B = P (21 E11 + 212E 12 + 201 Eoy + 1090y + 133E33) P, (2.2) 47
m(\) AP HER AR a, W di(A) = A—a, BEFEAERE P, (515 P AP = diag{a, J2(a)}.
B B = (255) € C(A), Ml AB = BA 18571 B = P(znEn +213E13 + 191 Ey+



2

22 (B2 + Esg) + 193 F3) P4 (3) # degm()) = 3, M A 1M/ NE Iz T HAFEL Wi,
] 7.26 AIH1 C(A) = R[A] = RI; + RA +RA>

6. &V 2HUE K LI n 4B, o 2 VBRI, f(V), m(A) 2002 » 1k
fEL WA N2 T, WSRAEAE V1 o- AN T250] Vi, Va, fiif5

V=VieV,, dmV;<dmV, dimV,<dimV

MFR V& @-A] M E1), SRRV & - A fEE. B V& o- A R 75 B4
2 ) =m(X) =p\)F, H p(\) B K B — AT A2, k> 1.
WERH DAL 3% o 75 K BRI T4 0

Lo, Ldi(A), -+, dr(N).

HH A FEAR ME T BTSN
V=Vie -3V,

Hir Vi & o— Ar=300, H ol MV TAZRF di(\) tRER Frobenius B (1 < < 7).
AV KT o Rul5rf, §r =1,

HHAHEL I S (V) HOFRHER M
FO) =™ 2] - [N

F (V)" (k> 0,1 <i<s) H K FHRNE - AAA2T. ffEl 7.4.10 50475 B
fift

9

Hi Vi = Ker [pi(@)]" (1< i < s) o= RETAL AV KT o— R4, s =1, A
]

fO) = (1™
FEOME: BV KT @ ATSMR, TN TVIHE S5 4 RS M. 5 S
V=Via,

HH V(i = 1,2) B o AT, B dimV; > 0. #5A Vi 6T olv, R ATSMRI, I5AT%ATAT
ARSI T 22, BATTLMEE] V = Vi@ 0V, Hif r > 2,V & o A2 745, dim V; > 0,
HE V; KT oly, (1 <i <r) R4 BBEERREW TR ¢, (A% E T4

s Ldi (M),

Hp A d(N(1 < i <) BERAMRTALTRNE. T2 ¢ /25t
m(\) = lem {d;(\), -, d,(\)}.

I m(A) = FO) = [pOV)]F, W E di(V) [ m(X) 7T
di(N) = [p(V)]* (1< ki < k).
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&



BT m(A) 2 di(N), - de(A) IR/ VAR MUFEAER 1 <i <r 15

NIl
) =di(A)---dp(A) =
[p(N)] o R 2£ [p(W)]F.
XS, M S AL

7. A ZEUE K BB n B aERE, HEEZ ISE TR N2 W, IR FERETRE XA =
A'X e K BRI FRRE.

HERT: 3% f(A) 2 A FURHMEZ I, g A IR/ N2 I, T A BARHERL LS AT A, A2 4
R P e M,(K), (% PTUAP = F = C(f(x)) 1 A [WAFFRER (11— kB C(f(x)
k). h XA=A'X "5 (PXP)F =F (P'XP), fiii

(BY = (yi;), WHYF =F'Y KB THEAE i = yirj-1(1 <i<n—1,2<j <n).
BRIAMERER 1 <i<j <n, B Yij = Yis1j-1 = - = Yj—141 = Yji, WY AXFREE.)

W% P'XP =Y Jx R, i X = (P) Y P~ 1 At FRi.

8. W A BEIK K LI n BrERE, IERIFAEU N0 A= Ao+ Ay + Ay, P Ay K
AR, Ay, Ay YO8 KBRS

WERH. & c=tr(A)/n, Ay = cI,,, M| tr (A — Ap) = tr(A) —nc =0, {l A — Ay SiBHE
MRERE. /N T 7.24 WAL 6 K EAERRE P, (613 P7'(A— A)) P = B 22—/ &
XATCENERNERE (H9E + AEPRERD) . % By o8 B IEXNAZ LT e R X,
IR NEN _E =M, B N B MFERALZ T T TR XA ITE NN T = AR,
B4, B = B1+ B,, H By, By #i &Ml 4 Ay = PB P71, Ay = PBy P, | Ay, Ay #RjE
KBRS, Hie A= Ag+ Ay + As.

9. % A € M,(K) 75808 K _EHIZERF4H PN, Poa(N)2, -, Po(N)%, HH Pi(\)
& K EERIE -AAZIA, e, > 1(1 <i < k). & C(P(\)Y) NHETZHEL P(A)
HIARE, IEIT: A AE K ERLIT 20 x4

diag {C (P1(A)7),C (P2(A)?), -+, C (Pu(A)™*)}
1 R EETB TR 28 = Jm 4 SR AR R S AR AR i U % A BEU K B n BT RE,
HEB: A LT diag{B,C}, K B 2 K EfAlikE, C & K _ERERE, BIFEE m e 21,
i3 C™ = O.
WET s HEARERT S 7.4.1 F0 F (Pi(N)%) FIAZRTFHH
1’ e 17 R()\)ez
FL At F = diag {F (PL(A)%), F (Pa(M\)%2), -+, F (Pe(\)*)} Zoit A2 1 91 254 4
AL AN A AR
diag {1,--- , 1, PL(A); 1, , 1, Po(N)%; -+ 31, | 1, B(\)*}

HE e 53 7.6.2 H1 F W15 R FAHE T BRI AT RHER 1
B4 EERIED PN #EERD, B F SR TN PL(N), Pa(N)e2, -, Pe(N)%,
Al F 5 A f5808 K AR FH. FIGHPAEERR A 5 F 808 K _EAELL



BofsadE:
WA EH K ERRISER A
Pl()\>elap2()\)627"' 7Pk(>\)ek;)‘t17)‘t27"' 7)‘tr
Hih B\ & K _FIARTLALEH P0) £ 0,6, > 0,i = 1,2, kit; >0, = 1,2, 7.

I
TERE] F(P(A)™) AT 2T B\ IARE, AT ERREZ IR Pi(A). fF I,
det (" (P;(A))) = (=1)"P;(0)% # 0, Hrp n; = deg Bi(N)%, B F'(F(\)*) BAERE. £

B = diag {F (Pi(A)?), F (Pa(A)2) -+, F (Be(A)™) }
W B 20 K MR ARIE SR SRR F (A7) 2RERE. 4
C =diag {F (\") ,F (\?),--- ,F(\")}
W C REL K ERRRE. d BRZERA A 2508 K BT

(B 0 )
0o C /)’
aE 15 IE.

10. % A, B Ky n(n>2) Wik, Wie: r(A)=n—1,AB=BA=0. itl{: A+ B}
R T BERME A EEE 0 IAREERSET 1 H BIBET 1.

UEBA: T E A FNSS AR R N A (AR #: A — P7'AP, B — P7'BP F{RFFARAE,
HORIE N —FF iR i% A Sh Jordan AR#ERL. FH r(A) = n — 1, it A CTHRHMEE 0 1Y

JUREHCH 1, @ TRAEE 0 19 Jordan G —A, 188 Jo; @ T H M AR REE
1 Jordan HAFE—iE, 128 Ji, T2 A = diag{Jo,J1}. X B = g“ gu kAR 7
21 22

H53 8k, Ml AB = BA = O W15 By, By, By #EFMEME, T/ B = diag {B11,0} H.
JoBy = BnJo =0, 115X By IN4EEL k> 2 B, Bi(2:k,:) =0 AN Bu(:,1:k—1) =0,
A, BT blk, Hpaeh 0, WK Jo+ Bu N, Hik, Jo+ By NAERMRTS £ =1 H B,
N—PAEFHE, B A+ B AR RS BEF I A BRHEE 0 IWREEREET 1 H
B ST 1



